Answer to the
Medical Quiz

Question 1.

a) A parotid abscess
b) Mumps
c) Staphylococcus aureus

Question 2.

a) Meconium is being passed per urethrum
b) A rectourethral fistula complicating anorectal agenesis
c) Poor

Question 3.

a) The abnormality is a dimple over the tibia and fibula
b) It is characteristic of hypophosphatasia, a rare condition due to deficiency of alkaline
phosphatase which results in failure of calcification of all bones

Question 4.

a) A rectal prolapse
b) This should alert the clinician to consider cystic fibrosis
c) Treatment is by gentle manual replacement if this does not occur spontaneously
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